
 

 

 

 

 

 

 

 

 

 

Республикалык олимпиаданын IV туру 
  

IV тур Республиканской олимпиады 

 

Англис тили  

Английский язык  
(окутуунун тереңдетилген деңгээли / углублённый уровень обучения) 

1-күн / 1 день 
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Телефону/ 

Телефон  

 

 

Мугалиминин ФАА/ 

ФИО учителя 

 

 

                       

 

 

Катышуучунун коду 
Код участника 

Министерство 

образования и науки 

Кыргызской Республики 

Кыргыз Республикасынын  

Билим берүү жана илим 

министрлиги 



Биринчи тур (1-күн) төмөнкүлөрдү камтыйт: 

1. Угуп түшүнүү: 

Текстти угуу (2 жолу) жана тапшырмаларды аткаруу (6-7) 

Аткаруу убактысы: 35 мүн. 

2. Лексика-грамматикалык тест (30  суроо) 

Аткаруу убактысы: 60 мүн. 

3. Окуу: 

Тааныш эмес текстти сөздүгү жок окуу 

Окуганын түшүнүү боюнча 10 тапшырманы аткаруу 

Аткаруу убактысы: 50 мүн.  

4. Жазуу: 

Сунушталган темага кыскача макала же аӊгеме жазуу (180-200 сөз) 

Аткаруу убактысы: 60 мүн 

Бардыгы: 3 саат 25 мүнөт. 

----------------------------------------------------------------------------------------------- 

 

Первый тур (1-й день) включает в себя: 

1. Аудирование: 

Прослушивание текста (2 раза) и выполнение заданий (6-7) 

Время выполнения: 35 мин 

2. Лексико-грамматический тест (30 вопросов) 

Время выполнения: 60 мин 

3. Чтение: 

Чтение незнакомого текста без словаря 

Выполнение 10 заданий по проверке понимания прочитанного 

Время выполнения: 50 мин 

4. Письмо: 

Короткая статья или рассказ на предложенную тему (180-200 слов) 

Время выполнения: 60 мин 

Всего: 3 ч. 25 минут. 
 

 

 

 

 

 

 

 

 

 

 

 

 



 

1. Audition 
For items 1-10 listen to a passage from a lecture and decide whether the statements 

(1-10) are TRUE (A), or FALSE (B) according to the text you will hear. Circle the 

correct option (A or B) on your answer sheet. You will hear the text twice 

 
The speaker says that… 

1. the subject of the talk is an American Zoo.  

2. Fatface is a young turtle. 

3. Fatface enjoyed playing basketball. 

4. animals like to play with human children. 

5. otters play games similar to King of the Castle. 

6. some birds play with the animals they have killed. 

7. cats play games similar to those played by many human young. 

8. young animals can be easily hurt while playing. 

9. when playing animals may learn how to catch food. 

10. many animals spend most of their time playing. 

 
For items 11-15 listen to an interview. Choose the correct answer (A, B or C) to answer 

questions 11-15. You will hear the text only once. 

 

11. Geoff is introduced as a successful … . 

A. sportsman  

B. businessman  

C. engineer 
 

12. We learn that Geoff was born in … . 

A. Guyana 

B. Barbados 

C. England 
 

13. At school Geoff was known for his … . 

A. strength 

B. violence 

C. pride 
 

14. Geoff decided to take karate when he … . 

A. and his schoolmates came to a sports center 

B. visited Japan 

C. saw the World Championships in Taiwan 
 

15. Geoff’s life now is dedicated to work… . 

A. for the Manchester police 

B. outside Britain 

C. with young people 

 

 

 

Катышуучунун коду 
Код участника 

Упайы 
Баллы 

A B 

A B 

A B 

A B 

A B 

A B 

A B 

A B 

A B 

A B 

  

TRUE   FALSE 
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2. Grammar and vocabulary. 

Grammar 

1.  If I ___ the car myself,   I ___ you use it. 

A) needed ,  would let 

B) don’t need,  would let 

C) didn’t need,  wouldn’t let 

D) didn’t need,  would let 

2. I _____ a friend while I _____ the shopping 

A) was meeting, did 

B) met,  was doing 

C) meet,  do 

D) met, did 

3. My mother … supper by the time I appeared. When I … she was still preparing it. 

A) did not cook,  was returning 

B) had cooked,  return 

C) wasn’t cooking,  returned 

D) had not cooked,  returned 

4. Is it the second time you … Russia?  No,  I … Russia four or five times. 

A) have been to ,  have been to 

B) had been to,  was in 

C) were in,  was in 

D) was going to,  was to 
 

5.  ______ such difficulties she was at a loss. 

  A) Never experienced 

  B) Having experienced never 

  C) Never have experienced 

  D) Having never experienced 

 

6. If my parents ______ more children, I ______ to share my room with a brother in my 

childhood. 

Which of the following variants must be used in the blanks in the sentence above?  

A) had, would have had 

B) would have had, had 

C) had had, would have had 

D) has had, will have  

 

7. Poets are said ______ the singing impulse as they grow older. 

Which of the following variants must be used in the blank  in the sentence above?  

A) lost 

B) lose  

C) to lose 

D) had lost 

 

8. Our twins were born on the same day as their twins. But ____ look bigger than ____ 

A) ours, theirs 

B) theirs,  its 

C) ours,  hers 

D) theirs,  his 
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9. Which of the variants below contains only Definite Articles? 

A)  Let's go to _ shop. I want to buy _ bread and _ milk. 

B)  _ sun is shining brightly in _ sky. What _ good weather! 

C)  My brother is _ best pupil in his class. Now he is reading something in _ corner of _ 

room. 

D)  John had _ very interesting conversation with his _ old friend. They talked almost all _ 

night. 

 

10. When you _________ in Beijing, do not hesitate to contact our local representative. 

A) are 

B) were 

C) will be 

D) would be 

  

11. “Your “feedback" option _________ available. We apologize for any inconvenience this 

might cause." 

A) is not longer 

B) is no longer 

C) has no longer 

D) is no longer been 

 

12. - My son has graduated from the Medical Academy. 

      - ________. 

A) So my daughter has 

B) So does my daughter 

C) So has my daughter 

D) So my daughter is 

 

13. I've never been to ________ Netherlands. But it's on my list of countries to visit. 

A) _ 

B) a 

C) an 

D) the 

14. The students ____ this project by the end of May. 

A) finish 

B) to finish 

C) are finish 

D) are to finish 

 

15. The book _______ from me, I cannot work any more. 

Which of the following variants must be used in the blank in the sentence above?  

A) being taken  

B) is taking 

C) took 

D) take 

 

16. "You should be careful," my friends said to me. 

Which of the following variants is the correct reported version of the sentence above? 

A) My friends said me that I should be careful. 

B) My friends said to me that I should have been careful. 

C) My friends told me that I should have been careful. 

D) My friends told me that I should be careful. 
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17. I will come tomorrow and finish the work," the plumber said to grandma. 

Which of the following variants is the correct reported version of the sentence above? 

A) The plumber said to grandma that he will come tomorrow and finish the work. 

B) The plumber promised grandma that he will come the next day and finish the work. 

C) The plumber promised grandma that he would come the next day and will finish the 

work. 

D) The plumber promised grandma that he would come the next day and finish the work. 
 

18. The tennis court ______ so we couldn’t play. 

A) has used 

B) was being used 

C) has been used 

D) is being used 
 

19. The boy feared lest he _____ mistakes in the last test. 

A) made 

B) had made 

C) should make 

D) should have made 
 

20. When I came in, the discussion seemed ______ to an end. They appeared ______ 

patience because they turned out ______ for it. 

A) to come, to lose, to be ready 

B) to be coming, to be losing, not to be ready 

C) to have come, to have lost, not to be being ready 

D) to have been coming, to have been losing, be ready 
 

Vocabulary 

Complete the text below with appropriate words and expressions from the box. You may need to 

change the form of some of the words. Note that there are spare words in the box.  

The second half of the twentieth century saw more changes than in the previous two hundred years. 

Penicillin has already been (1)_____ and used to treat infections; there have been many remarkable 

advances in medicine that have helped to increase our average (2)______  way beyond that of our 

ancestors. Incredible (3)_______ such as television have changed the way we spend our leisure 

hours. Perhaps the most important (4)_______, however, has been the microchip. Nobody could 

have imagined, when it was first (5)______, that within a matter of years, this tiny piece of silicon 

and  circuitry would be found in almost every household object from the microwave oven to the 

DVD recorder. And nobody could have predicted the sudden proliferation of computers that would 

completely change our lives, allowing us to access information from the other side of the world 

via the (6)______ or send messages around the world by (7)_______ at the touch of a button. 

Meanwhile, (8)______ into other aspects of     information technology is making it easier and 

cheaper for us to talk to friends and relations around the world. Good news for (9)_______ who 

love modern technology, bad news for the (10)_______ who would prefer to hide from these 

modern miracles. 

genetic engineering     technophobe     cybernetics     discover     digital     technophile     

experiment     research     safeguard     invent     life expectancy   e-mail     innovation     Internet     

invention     breakthrough 
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3. Reading comprehension 

Experiments have shown that in selecting personnel for a job, interviewing is at best a 

hindrance, and may even cause harm. These studies have disclosed that the judgements of 

interviewers differ markedly and bear little or no relationship to the adequacy of job 

applicants. Of the many reasons why this should be the case, three in particular stand out. 

The first reason is related to an error of judgment known as the halo effect. If a person 

has one noticeable good trait, their other characteristics will be judged as better than they 

really are. Thus, an individual who dresses smartly and shows self-confidence is likely to 

be judged capable of doing a job well regardless of his or her real ability. 

Interviewers are also prejudiced by an effect called the primacy effect. This error 

occurs when interpretation of later information is distorted by earlier connected 

information. Hence, in an interview situation, the interviewer spends most of 

the interview trying to confirm the impression given by the candidate in the first few 

moments. Studies have repeatedly demonstrated that such an impression is unrelated 

to the aptitude of the applicant. 

The phenomenon known as the contrast effect also skews the judgment of 

interviewers. A suitable candidate may be underestimated because he or she contrasts 

with a previous one who appears exceptionally intelligent. Likewise, an average 

candidate who is preceded by one who gives a week showing may be judged as more 

suitable than he or she really is. 

Since interviews as a form of personnel selection have been shown to be inadequate, 

other selection procedures have been devised which more accurately predict candidate 

suitability. Of the various tests devised, the predictor which appears to do this most 

successfully is cognitive ability as measured by a variety of verbal and spatial tests. 

 

1. This passage mainly discusses the 

A) effects of interviewing on job applicants 

B) inadequacy of interviewing job applicants 

C) judgments of interviewers concerning job applicants 

D) techniques that interviewers use for judging job applicants 

 

2. The word “hindrance” in line 2 is closest in meaning to 

A) encouragement 

B) assistance 

C) procedure 

D) interference 

 

3. The word “they” in line 6 refers to 

A) judgments 

B) applicants 

C) interviewers 

D) characteristics 

 

4. According to the passage, the halo effect 

A) stands out as the worst judgmental error 

B) takes effect only when a candidate is well dressed 

C) exemplifies how one good characteristic colors perceptions 

D) helps the interviewer`s capability to judge real ability 

 

 

 

Line 

5 

10 

15 

20 
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5. The word “confirm” in line 12 is closest in meaning to 

A) verify 

B) conclude 

C) recollect 

D) misrepresent 

 

6. According to the passage, the first impression 

A) can easily be altered 

B) is the one that stays with the interviewer 

C) is unrelated to the interviewer`s prejudices 

D) has been repeatedly demonstrated to the applicant 

 

7. The word “skews” in line 15 is closest in meaning to 

A) biases 

B) opposes 

C) improves 

D) distinguishes 

 

8. The word “this” in line 22 refers to  

A) devise personnel selection 

B) measure cognitive ability 

C) predict candidate suitability 

D) devise accurate tests 

 

9. The author mentions all of the following reasons why interviewing is not an accurate way 

to predict candidate suitability EXCEPT the 

A) halo effect 

B) primacy effect 

C) contrast effect 

D) cognitive effect 

 

10. The paragraphs following the passage most likely discuss which of the following?  

A) Other reasons for misjudgments of applicants 

B) More information on the kinds of judgmental effects 

C) More information on cognitive ability tests 

D) Other selection procedures included in interviewing 
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4. Writing 

Some people say that money makes the world go round. Others say that money is the root of all 

evil. Which of these do you agree with? Use examples and details in your answer (120-180 

words) 
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